rggogoboof

10.8,,
2

EnnEERERE - d:T_C_%:loomm_2'5cm_ :6.96cm O

kx Ax 0
Mg=| d - 2% B F. x kx Ax 0

6x 69.68,,x 150
=| 6.96,,-

2x 100x 400 >" 6% 69.68,,x 150

kg/cm

=3'873tDm > Mu=1'880t|:|m D D

7-2 0000000000

bx Ix ®x o c

S
40.8,x 7706

Q=
x 0.5 (0-07mmwx 400)
1077,

=4'087t > Qu:2 . 154t

cm4

g. yuuonoond
g-1 oonononan

s . _ Zpxexlr  (6x6656,)x 1.95,x (3.85)°
i x Bx 1 ) 8x (3.2x 105X@mmx 7706, o o

8-2 0000000000

5x Wyx L

384x Ex |

5x 0.179,, % (3.85 )

= =0.208
384x (3.2%x 10%),y/ce 7706, o

o ,=




